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211/ II   P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 211 
Series : SS-April/2021 
Roll No.           

vFkZ'kkL=vFkZ'kkL=vFkZ'kkL=vFkZ'kkL=    
ECONOMICS 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½ 

(Objective Questions) 

(Academic) 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/School Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) iz'u Øekad 1 ls 40 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA iz'u la[;k 1 ls 12 
rd cgqfodYih; iz'u gSa rFkk iz'u Øekad 13 ls 40 rd fjDr LFkku@lgh&xyr laca/kh iz'u gSaA 
lgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 40 are objective type questions. Each question is of 1 

mark. Questions from 1 to 12 are multiple choice type questions and 

Questions from 13 to 40 are fill in the blanks/True-false related questions. 

Write correct answer in your answer-book. 

1. fuEufyf[kr esa ls dkSu-lk lef"V vFkZ'kkL= dk pj gS \ 1 

(A) ek¡x dh yksp (B) eqnzk LQhfr 

(C) yxku dk fl)kUr (D) oLrq dh dher 

Which of the following is a Macro-Economics variable ? 

(A) Elasticity of demand (B) Inflation  

(C) Theory of rent (D) Price of a commodity  

2. ^ek¡x esa o`f)* fuEu esa ls fdlds dkj.k gksrh gS \ 1 

(A) iwjd oLrq dh dher esa deh  

(B) miHkksDrk dh vk; esa òf) 

(C) izfrLFkkfir oLrqvksa dh dher esa o`f)  

(D) mijksDr lHkh 

'Rise in demand' is caused by : 

(A) Fall in price of complementary goods   

(B) Rise in the Income of the Consumer 

(C) Rise in price of Substitute goods 

(D) All of the above 

3. tc lhekUr vk; (MR) 'kwU; gS] rc % 1 

(A) TR U;wure gS (B) TR 'kwU; gS 
(C) TR vf/kdre gS (D) TR rFkk MR cjkcj gSa 
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When MR is zero, then : 

(A) TR is minimum (B) TR is zero 
(C) TR is maximum (D) TR is equal to MR 

4. fLFkj ykxr dkSu-lh gS \ 1 

(A) fctyh fcy (B) dPps eky ds [kpsZa 
(C) nSfud etnwjksa dh etnwjh (D) fLFkj iw¡th ij C;kt 
Which is a fixed cost ? 

(A) Electricity bill (B) Expenses on raw material  
(C) Wages of daily workers (D) Interest on fixed capital 

5. ;fn dher esa 18% o`f) gksus ds dkj.k iwfrZ esa 27% o`f) gksrh gS] rks iwfrZ dh yksp gksxh % 1 

(A) 1.5  (B) 0.5 

(C) 3.5  (D) 2.5 

If 18% rise in price causes 27% rise in supply, then elasticity of supply will be : 

(A) 1.5  (B) 0.5 

(C) 3.5  (D) 2.5 

6. fuEufyf[kr esa ls ^'kq) vizR;{k dj* dkSu-lk gS \ 1 

(A) izR;{k dj & vuqnku (B) vizR;{k dj + vuqnku 

(C) vizR;{k dj & vuqnku (D) mijksDr esa dksbZ ugha 

Which of the following means 'Net Indirect Tax' ? 

(A) Direct tax – subsidy (B) Indirect tax + subsidy 

(C) Indirect tax – subsidy (D) None of the above 

7. fuEu esa ls dkSu-lk cSad djsUlh tkjh djus ds fy, vf/kÑr gS \ 1 

(A) dsUnzh; cSad (B) O;kikfjd cSad 

(C) lgdkjh cSad (D) mijksDr esa ls dksbZ ugha 
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Which bank is authorised to issue currency ? 

(A) Central Bank (B) Commercial Bank 

(C) Co-operative Bank (D) None of these 

8. lgh lehdj.k pqfu, % 1 

(A) 
Y

C
APC

∆

∆
=  (B) 

APC
MPC

−
=
1

1  

(C) 
MPC

K
−

=
1

1  (D) 
MPS

K
−

=
1

1  

Choose the correct equation formula : 

(A) 
Y

C
APC

∆

∆
=  (B) 

APC
MPC

−
=
1

1  

(C) 
MPC

K
−

=
1

1  (D) 
MPS

K
−

=
1

1  

9. ^dsUl* ds vuqlkj AD vkSj AS ds e/; lUrqyu dh voLFkk ds vUrxZr gksxk % 1 

(A) viw.kZ jkstxkj lUrqyu (B) iw.kZ jkstxkj lUrqyu 

(C) iw.kZ jkstxkj ls vf/kd lUrqyu (D) mijksDr esa ls lHkh 

According to Keynes, equilibrium between AD and AS can take place in a 

situation of : 

(A) Less than full employment (B) Full employment 

(C) Beyond full employment (D) All of the above 

10. fuEufyf[kr esa ls dkSu-ls ljdkjh ctV ds mís'; gSa \ 1 

(A) vk; vkSj /ku dk iqu% forj.k  

(B) vkfFkZd fLFkjrk 

(C) (A) vkSj (B) nksuksa  

(D) lkoZtfud m|e dks futh {ks= esa ifjofrZr djuk 
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Which of the following are the objectives of government budget ? 

(A) Redistribution of income and wealth  
(B) Economic stability 
(C) Both (A) and (B)  
(D) Transforming of public enterprises into private sector 

11. oLrq fofue; fd fLFkfr ml voLFkk esa gksrh gS] tgk¡ ij % 1 

(A) oLrqvksa ds cnys oLrqvksa dk fofue; gksrk gS (B) oLrqvksa ds cnys oLrqvksa dk fofue; ugha gksrk 

(C) oLrq,¡ /kkrq ds cnys fofue; dh tkrh gSa (D) mijksDr lHkh 

Barter system refers to that system wherein :  

(A) Goods are exchanged for goods (B) Goods are not exchanged for goods 

(C) Goods are exchanged for metals (D) All of the above 

12. fuEufyf[kr esa ls O;kikj lUrqyu esa 'kkfey ugha dh tkrh %  1 

(A) lsokvksa dk vk;kr-fu;kZr  

(B) ns'kksa ds e/; C;kt vkSj ykHkka'k dk Hkqxrku 

(C) lSykfu;ksa }kjk fd;k x;k [kpZ  

(D) mijksDr lHkh 

Which of the following is not included in balance of trade ? 

(A) Import-Export of services  

(B) Payment of interest and dividend among the countries 

(C) Expenditure by the tourists  

(D) All of the above 

mfpr 'kCnksa ls [kkyh LFkku Hkjsa %mfpr 'kCnksa ls [kkyh LFkku Hkjsa %mfpr 'kCnksa ls [kkyh LFkku Hkjsa %mfpr 'kCnksa ls [kkyh LFkku Hkjsa %    
Fill in the blanks with appropriate words :  

13. ^^jk"Vªksa ds /ku ,oa izÑfr dh [kkst** uked iqLrd ---------- }kjk fy[kh xbZA    ¼¼¼¼,Me fLeFk,Me fLeFk,Me fLeFk,Me fLeFk((((    ihxwihxwihxwihxw½½½½ 1 

"An Inquiry into the Nature and Causes of Wealth of Nations" was written      

by .......... .                            (Adam Smith; Pigou) 
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14. oLrq dh vko';drk lUrq"V djus dh 'kfDr dks ----------- dgk tkrk gSA ¼dqy mi;ksfxrk] mi;ksfxrk½¼dqy mi;ksfxrk] mi;ksfxrk½¼dqy mi;ksfxrk] mi;ksfxrk½¼dqy mi;ksfxrk] mi;ksfxrk½ 1 

Want satisfying power of a good is called .............           (total utility; utility) 

15. isIlh vkSj dksyk ------------ oLrq ds mnkgj.k gSaA                        ¼iwjd¼iwjd¼iwjd¼iwjd((((    izfrLFkkfir½izfrLFkkfir½izfrLFkkfir½izfrLFkkfir½ 1 

Pepsi and Coke are the example of ......... goods. (complementary; substitute) 

16. ifjorZu'khy vuqikr dk fu;e ---------- esa ykxw gksrk gSA                 ¼vYidky¼vYidky¼vYidky¼vYidky((((    nh?kZdky½nh?kZdky½nh?kZdky½nh?kZdky½ 1 

Law of variable proportions operates in ...........               (short-run; long-run)  

17. tc vkSlr ykxr (AC) ?kV jgh gksrh gS] rc lhekUr ykxr (MC) oØ vkSlr ykxr oØ ds --------- 
gksrk gSA                                                           ¼uhps¼uhps¼uhps¼uhps((((    Åij½Åij½Åij½Åij½ 1 

When AC is falling, marginal cost curve is .............. average cost curve.   

     (below; more than) 

18. iw.kZ izfr;ksfxrk ds vUrxZr ------------- gksrh gSA                  ¼¼¼¼AR > MR; AR = MR½½½½ 1 

Under perfect competition .............. .                                                                        ¼¼¼¼AR > MR; AR = MR½½½½ 

19. og dher tgk¡ ij ek¡x vkSj iwfrZ ----------- gksrh gS] lUrqfyr dher dgykrh gSA     ¼leku] de½¼leku] de½¼leku] de½¼leku] de½    1 

That price at which demand and supply are .............., called equilibrium price.  

      (equal; Less) 

20. ^};kf/kdkj cktkj* esa ---------- foØsrk gksrs gSaA                               ¼vf/kd] nks½¼vf/kd] nks½¼vf/kd] nks½¼vf/kd] nks½ 1 

There are ............. sellers in 'Duopoly Market'  (more; two) 

21. ^jkstxkj dk fl)kUr* dk v/;;u ----------- ds vUrxZr fd;k tkrk gSA  1 
   ¼O;f"V vFkZ'kkL=( lef"V vFkZ'kkL=½¼O;f"V vFkZ'kkL=( lef"V vFkZ'kkL=½¼O;f"V vFkZ'kkL=( lef"V vFkZ'kkL=½¼O;f"V vFkZ'kkL=( lef"V vFkZ'kkL=½    
'Theory of Employment' is studied under .............  

      (Micro Economic; Macro Economic)  

22. oS;fDrd iz;ksT; vk; dh x.kuk djus ds fy, O;fDrxr vk; esa ls --------- djksa dks ?kVk;k tkrk gSA 1 
    ¼izR;{k( vizR;{k½¼izR;{k( vizR;{k½¼izR;{k( vizR;{k½¼izR;{k( vizR;{k½ 
To calculate disposable income ............ taxes are deducted from personal 

income.     (direct; indirect) 
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23. ---------- {ks=d og {ks=d gS tks lsok,¡ iznku djrk gSA                     ¼f}rh;d( r`rh;d½¼f}rh;d( r`rh;d½¼f}rh;d( r`rh;d½¼f}rh;d( r`rh;d½ 1 

........... sector is that sector which renders services.      (Secondary; Tertiary)  

24. ----------- eqnzk esa 'kkfey fd, tkrs gSaA                   ¼dsoy flDds( dj¼dsoy flDds( dj¼dsoy flDds( dj¼dsoy flDds( djssssUlh Ulh Ulh Ulh vkSj cSad tek½vkSj cSad tek½vkSj cSad tek½vkSj cSad tek½ 1 

............ are included in money.       (Only coins; currency and bank deposit) 

25. 
lk[k xq.kd = .............                                              















 tekxek¡

 tekudn

 tekudn

 tekxek¡
,  1 

Credit multiplier = .............                    








depositsDemand

depositsCash
;

depositsCash

depositsDemand
 

26. ijEijkoknh jkstxkj ds fl)kUr ds vuqlkj ------------ ,d lkekU; voLFkk gSA  1 
   ¼viw.kZ jkstxkj] iw.kZ jkstxkj½¼viw.kZ jkstxkj] iw.kZ jkstxkj½¼viw.kZ jkstxkj] iw.kZ jkstxkj½¼viw.kZ jkstxkj] iw.kZ jkstxkj½ 
According to classical theory of employment .............. is a normal situation.   

     (less than; full employment) 

27. dqy [kpZ > dqy izkfIr;k¡ = ............                                     ¼?kkVs dk ctV( v¼?kkVs dk ctV( v¼?kkVs dk ctV( v¼?kkVs dk ctV( vkkkkf/kD; ctV½f/kD; ctV½f/kD; ctV½f/kD; ctV½ 1 

Total expenditure > Total receipts = ............ (deficit budget;  surplus budget)  

28. O;kikj lUrqyu ds vUrxZr dsoy ------------ ensa 'kkfey gSaA                  ¼n`';( vn`';½¼n`';( vn`';½¼n`';( vn`';½¼n`';( vn`';½ 1 

Balance of trade includes only ............ items.                     (visible; invisible) 

fuEufyf[kr dFku lgh gSa ;k xyr crkb, %fuEufyf[kr dFku lgh gSa ;k xyr crkb, %fuEufyf[kr dFku lgh gSa ;k xyr crkb, %fuEufyf[kr dFku lgh gSa ;k xyr crkb, %    
State whether the following statements are true or false : 

29. ^vFkZ'kkL= ds fl)kUr* uked iqLrd 1890 esa izdkf'kr gqbZA 1 

'Principles of Economics' was published in 1890. 

30. nks rVLFkrk oØ ,d nwljs dks dkV ldrs gSaA 1 

Two indifference curve can cut each other. 

31. izfrLFkkfir oLrqvksa dh ek¡x ykspnkj gksrh gSA 1 

Demand for substitute goods is elastic. 
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32. iwfrZ rFkk LVkWd esa dksbZ vUrj ugha gksrkA 1 

There is no difference between supply and stock. 

33. jk"Vªh; _.k ij C;kt O;fDrxr vk; esa 'kkfey gksrk gSA 1 

Personal income includes interest on national debt. 

34. ?kVrs izfrQy dk fu;e Ñf"k ij ykxw gksrk gSA 1 

Law of diminishing returns is applicable on agriculture. 

35. eqnzk esa dsoy djsUlh uksV 'kkfey gksrs gSaA 1 

Money consists of currency note only. 

36. O;kikfjd cSad lk[k dk fuekZ.k ugha dj ldrsA 1 

Commercial bank cannot create credit. 

37. [kqyh vFkZO;oLFkk esa ] AD = C + I + G + (X – M) gSA 1 

In an open economy; AD = C + I + G + (X – M) 

38. ^dj* ,d vfuok;Z Hkqxrku gSA 1 

'Tax' is a legal payment. 

39. ljdkjh ctV izR;sd o"kZ izLrqr fd;k tkrk gSA 1 

The government budget is presented every year. 

40. ,d ns'k dk Hkqxrku lUrqyu ges'kk lUrqfyr gksrk gSA 1 

Balance of payments of a country is always balanced. 

S 
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